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Solve Polynomial Equations Using TI-83 Plus/TI-84 Plus
and TI-Nspire™ CAS With Touchpad
Method 1: Using TI-83 Plus/TI-84 Plus

1.
Solve x3 + 2x2 – 11x – 12 = 0 by finding the zeros, or x-intercepts, of the graph of the corresponding function.
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•
Press WINDOW and input the window settings, Xmin = –10,
Xmax = 10, Xscl = 1, Ymin = –35, Ymax = 15, Yscl = 5, Xres = 1.

•
Press Y=. If there are equations in the Y= editor, clear them out.

•
Input the expression x3 + 2x2 – 11x – 12 in Y1, pressing ^3 for the cube.

•
Press GRAPH.

•
Press 2nd, TRACE to access the CALC menu, and then select 2:zero.
•
Move the cursor to the left of the first x-intercept. Press ENTER to set the left bound. 
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•
Move the cursor to the right of the same intercept. Press ENTER to set the right bound. 

•
Press ENTER again to accept the initial guess. The calculator will display the zero.

•
Record the x-intercept and then repeat these steps for the other two
x-intercepts.


2.
Solve x3 + 2x2  – 11x – 12 = 0 by graphing the two related functions and finding the points of intersection. 
•
Set the window settings the same as in step 1.

•
Press Y= and enter x3 + 2x2 – 11x – 12 as Y1 and y = 0 as Y2. 

•
Press GRAPH.

•
Press 2nd, TRACE to access the CALC menu. Select 5:intersect.
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•
Press ENTER three times to select the first curve, the second curve, and the guess for the point of intersection.

•
The calculator displays the x-value and y-value of the point of intersection indicated by the cross hairs. Record this point of intersection.
•
Press 2nd, TRACE to access the CALC menu, and select 5:intersect.
•
Press the left and right arrow keys to move the cross hairs close to the second x-intercept. 

•
Press ENTER three times and record the second point of intersection. 

•
Move close to the last x-intercept and repeat the above steps. Record the final point of intersection.
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Method 2: Using TI-Nspire™ CAS With Touchpad

3.
Solve x3 + 2x2  – 11x – 12 = 0 by finding the zeros, or 


x-intercepts, of the graph of the corresponding function. 
•
Open a new Graphs document.
•
Press b. Select Window/Zoom and then click on Window Settings. Input the following settings, pressing e to move between input boxes: 
XMin = –10, XMax = 10, XScale = 1, YMin = –25, YMax = 15, YScale = 5. Click OK.

•
Input the expression x3 + 2x2 – 11x – 12 in f1(x).
Press ^3 for the cube. 
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•
Press · to graph the function.

•
Press b. Select Trace, and then Graph Trace.

•
Use the left and right arrow keys to move along the curve toward the x-intercepts. As you approach each 
x-intercept the word “zero” will appear, indicating that the function is at a zero. Press x to drop a point with a label. 

•
Continue along the curve, dropping a point at each
x-intercept, until all three x-intercepts are identified.

•
Record the identified x-intercepts.

4.
Solve x3 + 2x2  – 11x – 12 = 0 by graphing the two related functions and finding the points of intersection. 

•
Create a new Graphs document and set the window settings as you did in step 3. 
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•
Input x3 + 2x2 – 11x – 12 in f1(x) and press · to graph the function. 

•
Input 0 into f2(x). Press ·. (If the entry line for f2(x) is not visible, press e.)

•
Press b. Select Points & Lines and then click on Intersection Point(s).

•
Use the arrow keys to move the arrow. Click on one of the function graphs, and then on the other. All intersection points will appear and will be labelled.

•
Record the three points of intersection.
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